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Q:1 Add: Q:7 Simplify -
[9.099 + 999.999 + 000.99 + 999.0000 + 0.909 + (27 x 4) /5 + (19/4) x 15 + (82/25) x 17 = ?
99.0909 + 9090.9] 1.132.08
1. 11199.9879 2.152.96
2.11199.9090 3.148.61
3.11199 4.139.85
4.11999.9898
Q:8 What value will come in place of question
0.6912+/0.5292 mark (?) in the following question?

Q:2 The value of m is _ _ _ ______ . [(]]52 =80 x 25)]/2 + (4]4 = 23)2] — (Q)S + N4
1.15 1.6
2.0.9 2.5
3.15 3.8
4.9 4.7

. - _3= _ Q:9 Simplify:
gf;hfzvgyeomxz'%ﬂz 3r2x(2-3)> 10% + 83 +122 - 112 + 172 + 192 + 242 +13% + 187
1 7/3 1.2772
2. _7/3 2. 21344
3.-14/3 3.1892
4. ]4/3 4. 3254
Q:4 What will come in the place of question mark Q:10 What should come in place of the question
(?) in the following: mark (?) in the following question?

11 2 (48% of 5680) - (38% of 7890) = ?
33T 6= 1. -265.8
L3 2.-271.8

"3 3.-241.3
2. % 4.-2895

3
3.3
-3

4. =

Q:5 Find the value of 2"

(1369)2 - (2197)"/3+ 276 - 22 = (4225)V2 + 171
1.12

2.8

3.10

4.9

Q:6 Find the value of [(0.04)715 + (0.16)7°].
1. 125

2.150.225

3.125.25

4.140.625
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IAnswer Key

1. (1) 2. (3) 3. (4) 4. (2) 5.(2)

6. (4) 7.(3) 8. (1) 9. (4) 10. (2)
A

Q:1 The correct answer is option 1i.e. 11199.9879

= [9.099 + 999.999 + 000.99 + 999.0000 + 0.909
+99.0909 + 9090.9]

Before Decimal point = 9 + 999 + 000 + 999 + 0 +
99 + 9090 = 11196

After Decimal point = 0990 + 9990 + 9900 + 0000
+ 9090 + 0909 + 9000 = 39879 [after decimal
point maximum 4 digit, so all number must be 4
digit, put zero/zeros to make 4 digits]

Now In after decimal point section put decimal
point after 4 digit(maximum after point), count
from unit place

= 3.9879
Now Add the results = 11196 + 3.9878 = 11199.9879

Q:2 The correct answer is option 3 i.e. 15

V0.6912++/0.5292

10.6912—+/0.5292

= [(/012 x /5.76) + (/012 x /4.41)]/[ (/012 x
/5.76) = (/0.2 x /4.41)]

= [2.4 +21]/[2.4 - 21]

= 45/0.3

=15

Q:3 The correct answer is option 4 i.e. 14/3.
3x2+30f12-3+2x(2-3)x2+3+2
=>3x2+30f12-3+2x-1x2+3+2
=23x2+36-3+2x-1x2+3+2
=3 x(2/36) - (3/2) x -1x2+3/2
=>1/6+3+3/2=14/3

10
Q:4 The correct answer is option 2 i.e. - Concept

Used:
BODMAS rule.
Explanation:

According to the given question,
1 1 3
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Hence, the required value is 7

Q:5 The correct answer is Option 2 i.e. 8
(1369)1/2 - (2197)1/3+ 276 - 22 = (4225)2 + 171
=37-13 +276 - ?2 =65 + 171

=24 +276 - (?)2 =236

=300 - 236 = (?)2

=?=8

Q:6 The correct answer is Option 4 i.e. 140.625.
= [(0.04)7% + (0.16) 7]

= [(1/0.04)'5 + (1/0.16)"9]

= [(100/4)"® + (100/16)'®]

= [{(10/2)2}'5 + {(10/4)2}'®]
= [{(10/2)2}3/2 + {(10/4)?}3/?]
= [{10/2}2*3/2 + {10/4}2 *3/2]
= [(10/2)3 + (10/4)3]

= [(1000/8) + (1000/64)]

= [125 + 15.625]

=140.625

Q:7 The correct answer is Option 3 i.e. 148.61.
= (27 x4)[5+ (19/4) x15 + (82/25) x 17 = ?
=108/5+475x15+328x17 ="

=216 +7125+5576 =7

= ? = 148.61

Q:8 The correct answer is option 1i.e. 6

[(N52 + 80 x 2.5)2 + (414 + 23)2] = (?)3 + N4
Applying BODMAS Rule;

= [(14.4 x 25)12 + (18)2] = (?)3 + n4

= [(36)Y2 + (18)2] = (?)3 + 14

= (6+324)=23+14

=330 =7?3+114

= ?3 =216

=>?=6

Q:9 The correct answer is Option 4 i.e. 32564.
103 + 83 +122 - 112 + 172 + 192 + 242 +132 + 182
We know that,

=10°% = 1000
=83 =512
=122 =144
=12 =12
=172 = 289
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=192 = 361

= 242 = 576
=132 =169

=182 = 324
Now

=10%+83+122-112+172 +192 + 242 + 132 + 182
= 1000 + 512 + 144 - 121 + 289 + 361 + 576 + 169 +
324

= (3375 - 121) = 3254

Q:10 The correct answer is Option 2 i.e. =271.8.
= (48% of 5680) - (38% of 7890) = ?

= [48(5680)/100] - [38(7890)/100] = ?

= ? =2726.4 - 2998.2

= ? =-2718
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